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(1) By math. Ind. '
Assume f(1),f(2)-,f(n—1) and all diff.
It f(n)= f{k) for some k<n
n isodd = fln-1)= flk-1)= f{U)--.f(n—1) arenot all diff.

(=€)
n ismew = k iseven " f(x)>1 onlyfor x even
= f[’%): f(%) ¢ (all diff)

(2) Let x=—ag (a,b)=1. Define S(x)=a+b

= “All rational x with § (x)<2 arein the image of f”is True.
Assume, rational x with S(x)<n-1 arein the imageof f” is True.

Now, yeQ  S(y)=n

@ if 3»51 then a > b, Take z=y-—1=—a——;—é::>S(z):a—b+b<S(y)=n
Byhypoh. zeR(f), ze f(k). Then Flk)=z+1=y. |

Q@if y>1, slimily -1}7>1, —§:>R(f)

1
y

flk)=

.. onto.

then f(k+1)=y.





